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Example 1: The conceptof overloading (1) SWAN™

Problem: bandwidth enlargement

Solution: ¢ Reduced number of slots for each section
¢ Centre feeding
¢ Overloading
¢ Mismatching a centre frequency
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Example 1: The conceptof overloading (2) SWAN™

DESIGN ANALYSIS
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Example 1: The conceptof overloading (3)

SWAN™
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Example 1: The conceptof overloading (4) SWAN™

DESIGN ANALYSIS
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Example 1: The conceptof overloading (5) SWAN™

DESIGN ANALYSIS
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Example 2: Traveling waveTl type 1

SWAN™

DESIGN
241 1, WR90, 6=9.375GHz, SLR=35dR]0=88A

Array mask:

Directivity and Gain (dB) - f

=9.375 GHz

—— Directivity (dB)
------- Gain (dB)

i
100

i i
120 140

H-Plane / Degrees

il
160

180

95

90 |-

85

80 |-

70}

601
55|

50

45

65

/< IS ‘f i
/

Antenna efficiency (%)
B

i
9.2 9.4 96

Frequency / GHz

[S4,] - all subarrays (dB)

N o
e

9

9.2 94 9.6

Frequency / GHz



Example 3: Traveling wavei type 2 SWAN™
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